Year 11 Mod 7 Revision


-----------------------------------------

Question 1

(a)
 40, 60, 300

(b)
eg. 42.8   63.7 > 2400

 285 < 300 with conclusion

Notes: 

(a)
B2 all correct


(B1 any two correct)

(b)
B2 for complete explanation


(B1 for partial explanation)

-----------------------------------------

Question 2

(a)
6 + 3 + 1 = 10
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6 × 12.8 = 76.8 = £76.80

(b)
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  2 = £51.20

-----------------------------------------

Question 3

20  (7  3)

7   2 = £14
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Question 4

(a)
Either y  x3 or y = kx3 or poss. Implied             y = 8x3
        64 = k (2)3 or better                                            y = (2x)3
(b)
i)
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      ii)
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x = 1.5 (oe)

Notes: 

(a)
M1 (allow alternatives (23) letter to k)

       M1 (using given values in candidate's y = k xn (n  1))

       A1 cao (allow 
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(b)
B1 ft (ft on k in candidate's  y = k xn (n  1) exact unless irrational (3sf or better).

       M1 (using given values in candidate's y = k xn (n  1))

       A1 cao (evaluated)

-----------------------------------------

Question 5

(a)
x + 4

(b)
p = x + 4 + x + 4 + x + x = 4x + 8

(c)
p = 16  24  (32)  40

(d)
graph plotted

-----------------------------------------

Question 6

(a)
3y = 21 so y = 7
(E)

(b)
6p = 15 so p = 2.5
(D)
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Question 7

(a)
(2, 2) (1, 0) etc

(b)
x = 1.5, y = 1

(c)
3y = - 2x + c

3 = - 4 + c

c = 7


3y = - 2x + 7

or line drawn through (2, 1), gradient found, c found

Notes: 

(a)
B1 at least 2 points correctly plotted 2mm


B1 cao correct line of any length as long as it intersects the line

(b)
B1 can ft from any intersection (dep on line) 0.1


B1 can ft from any intersection (dep on line) 0.1

(c)
M1 correct use of y = mx + c or 3y = - 2x + c seen


A1 cao oe


Alternative


M1 for m = 0.6 to 0.7 seen


A1 cao for c = 2.3 to 2.4 and m = 0.6 to - 0.7

-----------------------------------------

Question 8

(a)
-10

6


-6

54

(b)
i)
Plot point and draw graphs


ii)
x3 - 2 = 3x2 + 3x -6  x3 - 3x2 - 3x + 4 

= 0 Read off x at intersections

x = -1.35, 0.85 and 3.5 (all  0.1)

-----------------------------------------

Question 9

i)
n 

ii)
- 2

Notes:  

i)
B1. Accept decimal to 2sf or better

ii)
B1
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Question 10

(a)
Line of best fit

(b)
i)
Distance  = 5.2 m  1.685 m


ii)
Height = 1.83 m  5.6 m

Notes: 

(a)
B2 if fully within overlay guides


B1 cao if no less than half within the guides

(b)
i)
B1      square (ft) dep on at least B1 in (a)


ii)
B1      square (ft) dep on at least B1 in (a)

-----------------------------------------

Question 11

(a) 
4+2+3+4+5+1+1+3+2  = 3



8

(b) 
5 - 1 = 4

-----------------------------------------

Question 12

(a)
Animal
Angle

Hens
45


Sheep
120


Cows
156


Pigs
30


Geese
9

(b)
i)

[image: image6.wmf]12

1



ii) 
0


iii) 
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Question 13

(a)
isosceles

(b)
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  28.6  (19.7 - 11.3)
= 120.12 m2
(c)
8.42 + 14.32
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= 16.6 m

(d)
tan x =  8.4    = 0.5874
= 30.4


14.3


cos x = 14.3   = 0.8614
= 30.4


16.6


sin x =  8.4     = 0.5060     = 30.4


16.6

Notes: 

(a)
B1 cao (recognisable)


(b)
M1 for  
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  28.6  (19.7 - 11.3) or   
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  28.6  8.4


A1 cao for 120.1, 120.12; A0 for 120

(c)
M1 squaring and adding "height" and "base"


M1 (dep on M1)
finding the square root


A1 cao anything rounding to 16.6

(d)
M1 tan =  "8.4"
(oe)



"14.3"


M1 (dep)
finding tan-1

A1 cao anything rounding to 30.4

-----------------------------------------

Question 14

(a)
circle drawn at 5 cm radius circle shaded

(b)
i)
70.5


ii)
69.5
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